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Run 4352 mpswise, accO: All

Enitries: 1269733

Mean: 7. 7246 4~ 0.0024

Sid Dey: 27502 +- 0.0007
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Run 4352 mpswise, acc0: Beam ON, Laser ON

—— Helicity==0
— Helicity==

Enitries: 331312

Mean: 906189 +- 00010

Sbd Dwev: 0L5804 4+~ 00007

Entries: 331321

Mean: Q8570 4~ 00010

Sid Dwery: 0.5809 4 0.0007

Run 4352 mpswise, acc(: Beam OFF
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Run 4352 mpswise, acc0: Beam ON, Laser OFF
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AccO/NAccO

AccO/NAccO

Run 4352 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF Run 4352 mpswise, AccO/MAccO:mpsCoda, beam OFF
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Run 4352 mpswise, AccO/NAccO:mpsCoda, beam ON, laser ON Run 4352 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
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